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RUNO60 X Offset for g1 wrt g1 (Run 60)
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RUNO60 X Offset for LC1 wrt g1 (Run 60)
Mean =-1.188 * 3.908

Sigma = 20.347 + 9.156

chi2/ndf = 1.894
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RUNO60 X Offset for g2 wrt g1 (Run 60)
Mean =-0.072 £ 0.042

Sigma =1.590 +0.133
chi2/ndf = 11.099
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RUNO60 X Offset for LC2 wrt g1 (Run 60)
Mean = 0.356 * 0.597

Sigma =1.701 + 1.130
chi2/ndf = 2.885
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RUNO60 X Offset for g4 wrt g1 (Run 60)
Mean =-0.351 + 0.054

- Sigma = 1.608 * 0.386
chi2/ndf = 13.203
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RUNO060 X Offset for gCMSTimingcl wrt g1 (Run 60)

Mean = -21.886+ 2.126

Sigma = 18.583+ 1.671
chi2/ndf = 13.593
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